Digital Drilling Data
Systems, LL

GeolLogPlot
(Scale: 5":100' (10Y)

Company: Catherdral Energy Services
Well: Williams 3A-18H

Field: DJ Basin

Well ID: 0512333423

Job Number: 115378

State: CO
County: Weld
Country: USA

Location: DJ Basin Elev KB: 4993

Operator 1: EnCana Oil and Gas Elev DF: 4993

Operator 2: Trevor Plunk Elev GL: 4981

Comment 1:

Comment 2:

Comment 3:

Comment 4:

Comment 5:

Hole Data Casing Record

Size From To Size From To
12.25 0 856 9.625 0 856
8.75 856 7714 7 856 7714
6.125 7714 12015 4.5 7714 12015

Tool Run Data Run #1 Run #2 Run #3 Run #4 Run #5

Tool S/N €1278/1123/127:1278/1123/127€1014/1109/101.€1144/1119/1100/p1165

Cal Factor 3.96 3.96 2.65 2.65

Gamma Offset 40 39 50 50

Start Depth 856 6712 7714 11027

Start Date 9/23/11 09/27/11 10/03/11 10/06/11

Start Time 10:15 11:00 2:30 22:30

End Depth 6712 7714 11027 12015

End Date 09/27/11 09/30/11 10/06/11 10/08/11

End Time 11:00 10:30 21:00 07:00
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End Date

End Time

Gamma API (MD) Track: 1
0 API

350

350
700

Depth
5":100' (

ROP (MD) Track: 1
Lo Ft/Hr
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#2 MD:898.0 TVD:897.4 1:4.0 A:293.4 VS:-24.9

#3 MD:928.0 TVD:927.3 I:3.5 A:292.3 VS:-26.6

#4 MD:959.0 TVD:958.2 1:3.1 A:284.9 VS:-28.2

#5 MD:990.0 TVD:989.2 1:12.6 A:281.8 VS:-29.6




#6 MD:1081.0 TVD:1080.1 1:2.1 A:256.3 VS:-33.2

#7 MD:1173.0 TVD:1172.1 1:2.3 A:1256.9 VS:-36.7
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#8 MD:1266.0 TVD:1265.0 1:2.3 A:256.2 VS:-40.4

#9 MD:1358.0 TVD:1356.9 1:2.2 A:255.7 VS:-44.0

#10 MD:1450.0 TVD:1448.9 1:2.0 A:269.1 VS:-47.4
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#11 MD:1545.0 TVD:1543.8 I:1.5 A:238.6 VS:-50.2

#12 MD:1640.0 TVD:1638.8 I:1.7 A:241.2 VS:-52.6
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